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HDCP15.0% T 47
o E & ouT IN_| GROSS | HDCP_| NET
* 1| & IER 36 | 36 | 72 | 6.2 | 658
* 2| HRER FIE 40 | 38 | 78 |11.5 |66.5
*3 XE R 37 | 32 | 69 | 16 |6/4
x4 AHF = 37 | 37 | 74 | 35 | 705
* 5 XKIE = 42 | 44 | 86 | 144 | /1.6

6] skl 1% 44 | 41 85 | 126 | 724
%1 EH XR 41 46 | 87 |14.0 | 73.0
8| Bl mFa 42 | 46 | 88 |14.6 | 734
9 & ®ia 41 43 | 84 | 9.9 | 741
*10( AKH K 44 | 42 | 86 |10.8 | 75.2
1| SE = 43 | 45 | 88 | 124 |75.6
12 BEA #B% 43 | 40 | 83 | 1.2 | 758
13| ®’h EE 44 | 42 | 86 | 99 |76.1
14 ®E %= 48 | 41 89 | 129 |7/6.1
*15| H{ AX 41 42 | 83 | 5.0 |78.0
16| BHS R— 44 | 40 | 84 | 5.2 |78.8
17 W& % 49 | 43 | 92 |13.0 | 79.0
18] K&K 2 | 46 | 47 | 93 [ 138 [79.2
19 B8R M= 46 | 46 | 92 | 122 | 798
*20( HIIl FE 50 | 42 | 92 |122 | 798
21| @ B 41 47 | 88 | 8.0 |80.0
22| Rlu 44 | 40 | 84 | 3.0 |81.0
23| fEH %R 46 | 45 | 91 |10.0 | 81.0
24| ¥ FERK 43 | 48 | 91 | 99 | 811
25 =i & 48 | 42 | 90 | 7.1 | 829
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HDCP15.1 ~kM#&&(ZWPTHH ¥J

| i K =] ouT IN GROSS HDCP NET
* 1| tH —AR 42 | 45 | 87 |21.9 |65.1
* 2| [RIHE HFER 46 | 51 | 97 |29.3 |67.7
*3 T —F 45 | 38 | 83 |15.2 | 67.8
* 4 AR B— 49 | 46 | 95 |26.9 |68.1
* 5| Wk =k 47 | 40 | 87 |18.4 |68.6
6] =ER =B 45 | 42 | 87 | 175 |695
*7| HE FIR 47 | 42 | 89 |19.4 | 696
8| FEFR HRER 48 | 48 | 96 |24.3 |71.7
9 Kimz &— 43 | 44 | 87 |152 |71.8
*10| SkME R 47 | 47 | 94 |22.0 | 720
11| BHE Es 46 | 45 | 91 | 185 | 725
12| /IHk EER 47 | 43 | 90 |16.4 | 73.6
13| @ E1fT 48 | 43 | 91 |17.3 | 73.7
14| =K 8§ 48 | 51 | 99 | 248 |74.2
15| @ BEA 50 | 42 | 92 | 174 | 746
16| ™ FEAK 51 | 44 | 95 |20.4 | 74.6
17| 28 AB 46 | 45 | 91 |16.0 | 75.0
18] HA &= 53 | 48 | 101 | 26.0 | 75.0
19 B4 8k 51 | 50 | 101 | 25.6 | 75.4
*20| B Bk 50 | 47 | 97 |19.3 | 77.7
21| FHk B= 48 | 49 | 97 [19.1 | 779
22| =% 08I 47 | 47 | 94 |15.7 |78.3
23] HE HBxX 55 | 47 | 102 |23.2 | 78.8
24| LR #8— | 51 | 48 | 99 [19.4 |79.6
*25| {EE &k 53 | 49 | 102 | 215 | 805
26| L4t {E—HB | 48 | 51 | 99 |15.2 |83.8
27| HEE ML 57 | 55 | 112 | 26.2 | 85.8
28| iy EF= 53 | 65 | 118 |28.0 | 90.0
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